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COMMERCE
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150
Note — Attempt all the questions. All questions carry equal marks.

: 4 Accounting Standard 1 (AS-I) issued by the Institute of Chartered Accountants

of India relates to :
(A) Valuation of Inventories (B) Disclosure of Accounting Policies
(C) Cash Flow Statem;mt (D) Depreciation Accounting
2, Which is not a credit rating agency in India ?
(A) CARE
(B) CRA
(C) CRISIL
(D) ICRA
3. As per SEBI guidelines :
(A) All the new issues should be in the depository mode
(B) All the A group shares should be traded through a depository
(C) All the B group shares should be traded through a depository

(D) All of the above are true
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4, Which of the following is not money market security ?

(A) Commercial Paper ) . Cextifisate of Depoit
(C) Treasury Bills ot (ﬁ) National Savings Certiﬁfcabe
5. The book containing bids in a book-building process is maintained
by :
(A) Stock Exchange ' (B) SEBI

(C) Merchant Banker (D) Book-runner lead manager

6. Regulations for carrying out the purposes of the Depositories Act, 1992 are

formulated by :
(A) SEBI (B) Depository
(C) Stock Exchange (D) Central Government

T Re-instatement of delisted securities is permitted by a Stock Exchange after

cooling period of :
(A) 6 months (B) One year

(C) Two years (D) Three years

TBC-42/13/ET-I1I 4
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8.
(A)
(©)
i
(A)
(B)

Long-term funds

Short-term funds

-

Inflation Accounting relates to :

Money market is concerned with providing :

(B) Medium-term funds

(D) All of these

Adjustment of Financial Statements in term of inflation

Adjustment in Directors’ Report to Shareholders

(C) Adjustment in Directors’ Responsibility Statement

(D)

None of the above

LO. ADRs refer to :

(A)

(B)

(©)

(D)

African Depository Receipts
Asian Depository Receipts
American Depository Receipts

Australian Depository Receipts
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11.  Price fluctuation in the value of securities traded at a Stock Exchange is due

to the following :
(A) Demand and supply of securities
(B) Speculative pressures :
(C) Government’s policy
(D) All of the above
12. Return on units of a mutual fund assures :
(A) Return on investment subject to market risk
(B) Return free return on investment
(C) Constant return on investment
(D) None of the above
13. NSE refers to :
(A) National Security Exchange
(B) National Stock Exchange
(C) - National Safety Exchange

(D) None of the above

TBC-42/13/ET-I11 8
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14. Responsibility Accounting is related to :
(A) Fixing of responsibility of each divisional head in an organization
(B) Fixing the value of Assets shown in a Balance Sheet
(C) Fixing the target fér inflow of funds
(D) None of the above
15. A set of securities held by an investor is called -
(A) Portfolio - : (B) Group
(C) Collection (D) Bundle
16. Marketing is :
(A) Quantitative process (B) Logical process
(C) Mathematical process (D) Managerial process
17. Element of Marketing Mix is :
(A) Selling (B) Costing
(C) Creating (D) Product

TBC-42/13/ET-111 10
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18. What is Product Line ?
(A) Group of different products
(B) More than one product' -
(C) Different brands

(D) All of the above

19. Marketing environment consists :
(A) Set of interacting forces (B) External forces
(C) Internal forces (D) None of these

20 What is strategic management ?
(A) Set of alternatives
(B) Appropriate decision
(C) Marketing effective strategy

(D) Help to achieve the corporate objectives

21. Brand image concerns with the :
(A) Good material (B) Seller
(C) Purchaser (D) Particular manufacturer

TBC-42/13/ET-I11 12
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22. Product life cycle’s third stage ralates to :
(A) Maturity ; (B) Decline
(C) Introduction (D) Growth
23. Marketing research is rel;ted to :
(A) Finding the fact (B) Set of design
(C) Sampling (D) None of these
24 Product differentiation is related to :
(A) Modification of product (B) Other product

(C) Consumable product (D) None of these

95. Which one of the following is not controllable variable of marketing

management ?

(A) Cultural Environment

(B) Psychological Environment
(C) Social Environment

(D) All of the above

TBC-42/13/ET-III 14
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96. Which of the following is included under store retailers ?
(A) Discount store (B) Super markets
(C) Departmental store : (D) All of these

27. Marketipg process involves :
(A) Exchange (B) Product
(C) = Utility (D) All of these |

28. When products have been manufactured and are on saleable condition, the

selling function :
(A) Starts (B) Drops
(C) Increased (D) Reduced

99. Decision-making is a future oriented activity and involves forecasting

and planning. The function of decision-making is to choose alternatives for

the :
(A) Present (B) Profit
(C) Loss (D) Future

TBC-42/13/ET-II1 16
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30. An appropriate pricing policy has a positive impact on profit making

and :
(A) Purchasing - "(B) Controlling
(C) Sales Realisation (D) Sales promotion

31. Training involves :
(A) Identiﬁf:ation -of t.raining needs of the individuals and the company
(B) Developing suitable training programmes
(C) Evaluating the effectivengss of training programmes
(D) All of the above

32. “Employees in the present day environment need more freedom and autonomy

while doing their jobs.” This statement is :
(A) True (B) Not true

(C) Partially true (D) All of these

TBC-42/13/ET-111 18
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33.  Which one of the following leads to conflict between various departments in

a functional organisation ?
(A) Lack of appreciation for the constraints of other départment
(B) High degree of autonomy
(C) Low degree of autonomy
(D) None of the above
34. One of the importafice of HRD is :
(A) Role clarity
(B) Demotion of an employee
(C) Termination of an employee
(D) None of the above

35. What describes the duties of the job, authority relationship, skill requirement,

conditions of work etc. ?
(A) Job enlargement (B) Job analysis

(C) Job enrichment (D) None of these

TBC-42/13/ET-II1 20
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36.

37.

38.

39.

Main contribution of HRD audit is to focus on :
(A) Window-dressing (B) Cost ;eduction
(C) Value-adding HRD (D) All of these

What preparations are to be taken into account during the pre-interview session

by the employer ?

(A) Background (B) .Training
(C) Expefience - (D) All of these
Workers participation in management aims at 3

(A) Achieving organizational goals

(B) Achieving personal goals

(C) Increasing motivation of workers

(D) All of the above

HRD outcomes can influence the organization’s business goals which may be

in terms of :
(A) Higher productivity (B) Satisfied customers

(C) Satisfied stockholders (D) All of these .

TBC-42/13/ET-IIT 22
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40. While selecting an employee the HRD department gives greater emphasis

to :
(A) Right-man for the }'ight-job
(B) Only the right man
(C) Only the right job
(D) Only nepotism
41. An HRD mgnage;r in order to be successful must have liasion with :
(A) Trade unions (B) + Employees
(C) Government (D) All of these

42. Every HRD system developed by an organization should be based on the

follpwing elements of HRM :

(A) Suitable compensation plan
(B) Good performance

(C) Selection of suitable persons

(D) All of the above
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43.

45.

46.

Retention of qualified and skilled employees depends upon :
(A) Adequate compensation package

(B) Timely promotion to higher Jjob

(C) Fairness in performance appraisal

(D) All of the above

Which one of the following is the HRD score card ?

(A) HRD syste.m maturity score

(B) Com.petency score

(C) HRD competencies system maturity score

(D) All of the above

In a good organization HRD department ensures provisions for :
(A) Health of employees (B) Safety of employees
(C) Welfare of employees (D) All of these

Which of the following is not the item of Current Account ?
(A) Amortization (B) Trade Balance

(C) Private Transfers (D) Investment Income °
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47.

48.

49.

Which' of the following is not the items of Capital Account ?

(A) NRI Deposits (B) Official Transfers

(C) | Disbursements ; (D) External Assistance

The spot rate of exchange is quoted for the immediate delivery of :
(A) Foreign Exchange (B) Foreign Treasury

(C) Foreign Rate . (D) Foreign Transaction

Which of the following problems an entrepreneur faces when he goes for the

international business ?

(A) Political uncertainties (B) Cultural differences
(C) Currency fluctuations (D) All of these

WTO was set up to replace :

(A) SAARC (B) NAFTA

(C) GATT (D) None of these
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51. In which of the following ways India is beneﬁtted by WTO policies ?
(A) Reduction of tariffs on exports
(B) Improved prospects for agricultural exports
(C) Greater security and predictability of international trading system
(D) All of the above
52. Intellectual Property Rights Agreement covers the following :
(A) Only copyright and related rights
(B) Only Patents
(C) Only Trademarks
(D) All of the above
53. MNCs are involved in :
(A) Producing goods and its marketing
(B) Rendering services
(C) Both producing goods and its marketing and rendering services

(D) All of the above
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54. Which of the following is treated as criticism of MNCs in the process of

international business ?
(A) Cﬁdlenge to Nation-state Sovereignty
(B) Inequalities
(C) Interference with economic objectives
(D) All of the above

55. Foreign Direct Investn'lent (FDI) involves :
(A) Licensing .
(B) Engagement- of considerable assets
(C) Trading with a country
(D) None of the ai)ove

56. MNCs choose investment locations with :
(A) the motive for investment only
(B) the sector investment only
(C) the size of investors only

(D) all of the above
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57. Which of the following is considered most important at the time of entering

into a joint venture across the border ?
(A) Strengths of the partners

(B) Weaknesses of each part:ner

(C) Opportunities and threats

(D) All of the above

58. Association of South-east Asian Nations (ASEAN) was created with the aim

of creating common market in the year :
(A) 1967 (B) 1970
(C) 2000 (D) 2012

59. Which is the cause of increasing indebtedness in LDCs (Less Developed

Countries) ?

(A) Increase in crude oil prices
(B) Inflation

(C) Higher rates of interest

(D) All of the above
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60. Flﬁctuating Exchange Rate :

(A) Creates the risk (B) Reduces the risk

(C) No risk at all (D) Both (A) and (B)
61. Residential status of a person is determined :

(A) Once for all

(B) Each year with reference to previous year

(C) Each year with ‘reference to assessment year

(D) None of the above

62. An individual is resident in India in an assessment year under the Income

Tax Act, 1961; if :

(A) He stays in India for 182 days or more in the relevant previous year
(B) He stays in India for 182 days or more in the relevant assessment year
(C) He stays in India for 120 days in the previous yeail

(D) He stays in India for 100 days in the previous year and 60 days in the

assessment year
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60.

61.

62.

gedi-aedr (@ sfer) fafma <

(A) feH IO H ® (B) ifEH W Wl ol ¥
(C) Tacma off sifEw & o @ AR (B) 2FI
v A w1 emarE Wt

A) Fa & foa fauifa @ ot

B) fooa o & Hedf # wdw od fauifa 2 @

(©) m-ﬁufmaﬁ%ﬁasiﬁu%aﬁﬁufﬁa@a’?%

(D) =vdF H § ®E A

Qmarﬁawwafuﬁm,wma%mﬁam—ﬁuhwaéﬁwmﬁamﬁ

%, R

A wEf free o § 182 Al o v & fad e d w@ R
(B) o wrEfTs F-fufor 79 8 182 fel W v @ fad v § @ R
(©) = fuga ad 120 fA F A3 wma H W

(D) a%ﬁ@éaﬁmoﬁﬁ%ﬁfr&ahm—ﬁufmaéﬁeoﬁ%mm

Hw®
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63. Death-cum-retirement gratuity received by an employee’s successors, who was

Central Government Employee, is :
(A) Fully exempted from Income tax
(B) Exempted only upto‘Rs. 1 Lac
(C) Exempted only upto Rs. 3.5 Lacs
(D) Not exempted at all

64. The maximum limit for contribution to Public Provident Fund by a person

i5:s
(A) Rs. 80,000 per year (B) Rs. 70,000 per year
(C) Rs. 1,00,000 per year (D) No limit

65. Transport allowance received by an employee, for Income Tax purposes

is :

(A) | Fully exempted

(B) Fully taxable

(C) Exempted upto Rs. 10,000 per month

(D) Exempted only upto Rs. 800 per month
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63.

»

64.

65.

FFT TER B FHEM B SEWEUHNE B WG FI-He-Farta IR@m
(Fr=g2l)

(A) W@Wﬂaﬂﬁ?ﬁ%‘

(B) %aa1m*a®wmm@gaa@?ﬁ%

(©C) @ae 3.5 O T a% @ H QA T Wl €

(D) faeme off w9 & oW €

ardef wfasr ffa § TR S EN ArRR W sfuwed @ ¥
(A) wfa =d 80,000 %. (B) wfa =€ 70,000 %.
(c) wfa = 1,00,000 %. (D) e Hm AR

FHE g AEHL Sevdl & fod wa ufEed w9 o:

(A) ofeE wIR AT

(B) YUfadl #IeF B ©

(C) whT HE 10,000 %. TF HIF oAl ©

(D) wfd HE 800 %. & U Bl ©
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66. Income derived from an adventure in the nature of trade, commerce and

manufacturing is chargeable to tax under the head :
(A) Income from other sources
(B) Capital gains
(C) Profits and gains of business or profession
(D) Not chargeable at all
67. Agricultural income means :
(A) Any income derived from the land

(B) Any income derived from the land used for agricultural purposes from

anywhere
(C) Any income derived from the land used for agricultural purposes situated
in India

(D) All of the above
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66. wRER, Fifsg iR fafmivert wefa & Sifes = @ ya g g vids

F=Ta FRT B T2
(A) = 9di ¥ ™
(B) Usitra &y
(C) =Ha9E 1 I | U oY & HEE
(D) faoga off w3 ==
67. wmmasﬁ'%%}
(A) 4\ q wa w5 9 sweH

(B) Ffor SRedl & fod swm # 9 ol fRe o qft § ww e st

AT

(C) Ffama sevdl & fod 3wdm =1 91 ol 9yra § feom ofts § g+

97 et

(D) 3w et
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68. Residential status of an individual can be :
(A) Resident only
(B) Non-resident only
‘(C) Resident but not ordinarily, resident only
(D) All of the above
69. A person is deemed to be an assessee in default, if he :
(A) Fails to file return as required under the Income Tax Act, 1961
(B) Fails to pay tax on his income
(C) Fails to deduct tax at source and/or deposit in the Treasury
(D) None of the above

70. The following income earned during the assessment year is assessed to tax

in that assessment year :

(A) Income from salary

(B) Casual income

(C) Income from other sources

(D) Business income of non-resident shipping company having no

representative in India
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68, TH wifE ¥ orErd wiwfy frefafed @ R ¥ o
(A) Had e
(B) Faw e
() framt wg wuRw dk WA, daw FEm
(D) swds gt

69, TH e wX (iR g WA S €, AR ST

(A) maﬁxﬁm,wm%maﬁﬁaﬂﬁaﬂﬁ(ﬁﬁ)maﬁm

T ® ’
(B) e e PR T R
(©) @ammﬂﬁm%sﬂtmwmﬁmﬁmm%
D) IF # ¥ FE T

70. aﬂﬁuhm%gwimaﬁ%mwwﬁaﬁmfaﬁaamwmaﬁﬁ
m%ﬁﬁﬁuﬁaﬁaﬁﬁ%:

(A) a4 | STHEA!
(B) oT&fes ATHEA!
(C) 3 dm ¥ 3™

(D) aﬁa@ﬁ}—qﬁaﬁm,ﬁwmﬁaﬁiuﬁrﬁﬁ:wﬁtﬁm

A
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71.  Which of the following expenses are not allowed deduction for computing income

under the head ‘Profits or Gains of Business or Profession’ ?
(A) Rent of a building taken on rent for the purpose of business

(B) Repairs and insurance premium of plant and machinery used for business

purposes
(C) Interest on borrowed capital used for business purposes
(D) Expenditure incurred by way of charity

79 An assessee can claim exemption under Section 80C of the Income Tax Act,

1961 to an extent of :

(A) Rs. 2,00,000 (Two lacs) per year only

(B) Rs. 5,00,000 (Five lacs) per year only

(C) Rs. 1,50,000 (One lac fifty thousand) per year only

(D) None of the above
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71 ﬁmﬁf@aﬁéﬁ@@ﬁaﬁ‘wmwﬁwumm’xﬁwém

a TR 3 wOd @ eAfd WA ¥ 7

(A)

(B)

(C)

(D)

ZEOE § TYd ¥ 9 W o TERG F A

T By @ fol Twm #t T ARG A A SR
BliEeE

EEE SEE # fad Swnm w R SR W

=R & fad fea ™ =23

72. U w-Truife s atufEm, 1961 F UM 80C & g fFE dH TF T

F T X TFA €

(A)

(B)

(€)

(D)

fq o6 ®ga & 2,00,000 (2 @E)
ufq o8 ®ad & 5,00,000 (5 @)
ufq ad &9 3. 1,50,000 (1 9@ THE FWR)

IRfE § § BRI
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73. Family pension received by the legal hiers of an employee is chargeable to

income tax under the head :

(A) Income from salaries -

(B) Income from other sources

(C) Capital gains

(D) Profits and Gains of Business‘ or Profession

-

74. The income of a minor which accrues to him otherwise than manual or

specialised knowledge is :
(A) Clubbed with the father’s income
(B) Clubbed with the mother’s income
(C) Clubbed with the income of that parent whose- other income is higher
(D) Not clubbed at all
75.  Which of the following heads of income will never result into loss ?
(A) Salaries (B) Income from house -property

(C) Capital gains (D) Income from other sources
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73. m%wmmmmwm@amém

ATH FWRA oAl ¥

(A) o H I

(B) 1= dml ¥ M

(C) UsSia @

(D) =EEE @ W & feqa w@ @

74. Wﬁamﬁ‘ﬁ@mﬁmmﬁﬁmmaﬁmmmﬁmia
oA T

A) o 9 emet ® w9 g & S ©
®) H = omed B wE g f T
(C) ﬁwmmﬁmmm%ﬁmﬁmamﬁwﬁ%
D) faows W TR T W S €

75. mﬁﬁémmﬁﬁmmﬁwmaﬁ@n?
(A) oM (B) TR gHfy § SHEH

(C) USta Y (D) = dal ¥ M
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